With which country India has created a
‘Joint challenge coin’ :

(A) Australia (B) South Africa

(C) America (D) Japan

Which of the following won the moin-ud
Dowlah gold cup cricket tournament
2015-16:

(A) Hyderabad XI (B) Railway

(C) Gujarat (D) India Cements
Who is Dutee Chand :

(A) Journalist (B) Footballer

(C) Sprinter (D) Cricketer

What is the venue of 55th National open
Athletics Championship :

(A) Karnataka (B) Kerala

(C) West Bengal (D) Sikkim

Expand PMKKKY :

(A) Pradhan Mantri Khadya Kshetra Kalyan
Yojana

(B) Pradhan Mantri Khadya Kishan Kalyan
Yojana

(C) Pradhan Mantri Khanij Kshetra Kalyan
Yojana

(D) None of these

Which of the following is the longest river
of India :

(A) Ganga (B) Yamuna

(C) Godawari (D) Ram Ganga

The Nagarjun Sagar dam is constructed on
the river :

(A) Chambal (B) Krishna

(C) Yamuna (D) Kosi

Who was the first geographer to ascertain
the length of the equator :

(A) Herodotus (B) Eratosthenes

(C) Thales (D) None of these
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L

Rating curve is useful for estimation of :
(A) Stream velocity (B) Width of river
(C) Dissolved load (D) None of these

Which is the oldest oil producing state in
India :

(A) Uttarakhand
(C) Maharastra

(B) Uttar Pradesh
(D) Assam

Maula Ram was a :
(A) Poet

(B) Doctor

(C) Social Worker
(D) None of these

Kalagarh Dam is constructed on :
(A) Bhagirathi river (B) Ramganga river
(C) Kosi river (D) None of these

The famous ‘Baghnath’
Uttarakhand is located at :

temple in

(A) Chamoli (B) Uttarkashi
(C) Dehradun (D) Bageshwar
Meaning of ‘Talaun Land”’ is :

(A) Stoney Land (B) Irrigated Land
(C) Barran Land (D) None of these

. In Uttarakhand 5th July is celebrated as :

(A) Green Day
(C) Water Day

(B) State Day
(D) None of these

Name the district in Uttarakhand where
“Naini- Saini’ aerodrome is being constructed :

(A) Almora (B) Uttarkashi
(C) Chamoli (D) Pithoragarh
Choose correct combination :

MLA Legislative Assembly
(A) Harish Rawat Dharchula
(B) Ajay Bhatt Ranikhet

(C) Both A & B are correct
(D) None of these
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Tiger fall is located at :
(A) Haldwani (B) Chakrata
(C) Tehri (D) None of these

Raja Ji National Park is located at :
(A) Dehradun, Haridwar, Pauri

(B) Dehradun, Tehri

(C) Tehri, Uttarkashi

(D) Chamoli, Uttarkashi

Askot wild life sanctuary is situated at :

(A) Chamoli (B) Uttarkashi

(C) Tehri (D) Pithoragarh
Aditi Ashok is associated with which sport :
(A) Golf (B) Squash

(C) Cricket (D) Tennis

Which city of America has declare 10
September as ‘Anupam kher Day’ :

(A) New York (B) Las Vegas

(C) Bostan (D) None of these

Who has become the new Prime Minister of
Australia :

(A) Tony Abbot (B) Eric Abetz

(C) Malcolm Turnbull (D) None of these

Which state government approved victim
compensation scheme :

(A) Gujarat (B) Uttar Pradesh
(C) Orrisa (D) Delhi

25. Name of Metro Man of India :
(A) E. Sree dharan  (B) P. Dharan
(C)N. Om Dharan (D) Ratan Tata

26.

Which of the following has been formally

merged with SEBI :
(A) IRDA (B) FMC
(C)RBI (D) EPFO
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Who is known as ‘Father of modern India’ :
(A) Gandhi

(B) Jawahar Lal Nehru

(C) Ram Mohan Roy

(D) None of these

Who was the founder of Prarthana Samaj :
(A) Raja Ram Mohan Roy

(B) Dayanand

(C) Ravindra Nath Tagore

(D) Atmaram Pandurang

The All India Kisan Sabha was formed in :
(A) 1916

(B) 1936

(C) 1901

(D) None of these

Who was called ‘Grand old man of India’ :
(A) Dadabhai Naoroji

(B) Jamshed Ji Tata

(C) C. Rajgopalachari

(D) None of these

Which was the birth place of Guru Nanak :
(A) Gurdaspur

(B) Chandigarh

(C) Pathankot

(D) None of these

Tipu Sultan died fighting the English forces
under :

(A) Lord Cormwallis

(B) Lord Welleslley

(C) Lord Dalhousie

(D) None of these

When was the battle of Plassey fought :
(A) 1857 (B) 1557
(C) 1757 (D) None of these
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34. The original name of Swami Dayanand

33.

36.

37.

38.

Saraswati :

(A) Mula Shankar
(B) Abhi Shankar
(C) Gori Shankar

(D) None of these

Who founded the Brahmo Samaj :
(A) Ishwar Chandra Vidyasagar
(B) Dayanand

(C) Raja Ram

(D) Raja Ram Mohan Roy

Reserve Bank of India will issue coins of
........ denomination to commemorate golden
jubilee (50th) year Indo-Pak war 1965 :

(A) 2 Rupees

(B) 5 Rupees

(C) 15 Rupees

(D) 1000 Rupees

What is the theme of World Tourism Day

2015

(A) One billion tourists's one billion
opportunities

(B) Sustainable Tourism

(C) Tourism Linking Cultures

(D) None of these

eeeeenn. Was declared as the National Animal
of Nepal as per the new secular constitution
of Nepal :

(A) Goat

(B) Elephant

(C) Cow

(D) None of these
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Which of the following pairs has elements
containing same number of electrons in the
outer most orbits :
(A)N—O

(C) Ca—Cl

(B) Na—Cl
(D) C1—Br

TiH, 4, is an example of :
(A) Ionic hydride

(B) Covalent hydride

(C) Metallic hydride

(D) None of these

The chief impurity present in red bauxite is :
(A) SiO, (B) Fe,04
(C) K2SO4 (D) NaF

Lead is soluble in :

(A) HNO, (B) H,SO,

(C) CH;COOH (D) None of these

The lightest metalis :

(A) Li (B) Mg

(C)Ca (D) Ma

Which of the following is ferromagnetic :
(A)Cr (B) Mn

OCOwW (D) Co

Hydroxide soluble in ammonia is :
(A)Cu(OH),  (B)Fe (OH);

(C) Al (OH); (D) None of these

The oxidation number of cobalt in
K [Co (CO),] is :

(A)+1 B)-1

O©)+3 (D) None of these

In [NiCl,)*~ the number of unpaired electron

is:

(A)4.5 (B)+3

©)2 D9

Mark the gas which turns lime water milky :
(A) Cl, (B) SO, and CO,

ON, (D) H,S
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The IUPAC name of the following structure
is :
CH, -C-CH, - COOH
I
0]
(A) 2-Keto butanoic acid
(B) 3-Keto butanoic acid
(C) 4-Keto butanoic acid
(D) None of these

An Alkane has a C/H ratio (by mass) of
5.1428. Its molecular formula is :

(A) CsH,, (B) CgH3

(C) CeHys (D) None of these

Which of the following is not an
electrophile :

(A) Na* (B) CI*

©H (D) BF;

The shape of carbonium is :

(A) Pyramidal  (B) Linear

(C) Circular (D) Planar

Which of the following will be easily
nitrated :

w0 ®

(C)Both A & B (D) None of these

The number of secondary hydrogens in 2,
2-dimethyl butane is :

(A)5 (B)8

©)2 D)9

Which of these do not undergo wurtz
reaction :
(A) C,HsF
(C) C,HsCl
The correct order of C—X bond polarity is :
(A) CH;Br > CH;Cl > CH,l

(B) CH3I > CH;BI’ > CH]CI

(C) CH4Cl1 > CH;3Br > CH;l

(D) None of these

CHa

(B) CzHSBr
(D) None of these
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PCI; reacts with a compound containing :
(A) — SO; group (B) —OH group
(C) — NOs; group (D) None of these

Phenol is more acidic than :

OH OH
OCH;
(4) @ (B) @
NO,

(C)C3 Hy (D) None of these

Which of the following fails to answer the
iodoform test :

(A) Pentanone-1
(C) Propanone-2

(B) Pentanone-2
(D) None of these

Which of the following does not give
yellow precipitate with I, and NaOH :

(A) C,H;OH (B) HCHO

(C) CH;CHO (D) None of these

Which acid has least pKa value :
(A) CH;COOH (B) C1.CH,COOH,
(C) CI,C.COOH (D) None of these

Ethyl acetate reacts with CH;MgBr to
form :

(A) Primary acid  (B) Secondary Alcohal

(C) Acid (D) Tertiary Alcohal
In amines, the hybridisation state of N is :
(A) sp (B) sp’

(C) sp (D) None of these
Nylon-6 is made from : :

(A) Butadiene (B) Chloroprene
(C) Adipic acid (D) Caprolactum

Which of the following is a protein :
(A) Pepsin (B) Adrenaline
(C) ATP (D) Glutamine

11

69.

70.

i

72:

13,

74.

3.

76.

77,

SET-A
PCls 39 s & wa v w1 8, foad
B B —
(A) -~ SO4 group (B) — OH group
(©)~NOjgroup (D) ¥ & #¢ e

foreier ferent aTvam sifers orefig 28—

OH OH
OCH;
(A) @ ®) <:[]

NO,
(C) CsH; (D) 779 9§ &g 7

= § @ 31 sTArErerd e T8 e f—
(A) TRAT-1 (B) =2
(C) IAr7-2 (D) T ¥ =8 &

fretfafaa ¥ ¥ ®H I, 3 NaOH & @19 den
ey TE 2 8—

(A)C,HsOH  (B) HCHO

(C)CH;CHO (D) ¥ & ®1§ 7l

et 3 Q - 37%et 1 pKa ¥ a9 8—
(A) CH;COOH (B) C1.CH,COOH,
(C) C1,C.COOH (D) T ¥ F§ &
Tfaer wHie CH;MgBr ¥ fufisar &3
T B—

(A) STafire e (B) faditas wesreial
(C) 37 (D) Teras Teshed
THET F AR W G Tae Bt 8—
(A) sp (B) sp°

(C) sp? (D) T | FE T
TAATI-6 ST ST 8—

(A) SqIT=ET | (B) FRIBA &

(C) Tfefiw s @ (D) Hlieiaeq ¥
fr=r A &9 9T 2—

(A) A (B) TEfem

(C) ATP (D) T

[XLIX]



78.

79,

80.

81.

82.

83.

84.

85.

Which of the following is not present ina
nucleotide :

(A) Cytosine (B) Guanine
~ (C) Adenine (D) Tyrosine
Crystals of which pair are isomorphores :
(A) ZnSO,
(B) MgS0,4.CaSO,
(C) ZnSO4.MgS0O,
(D) None of these
The law of multiple proportions was
proposed by :
(A)-Lavoisier (B) Dalton
(C) Proust (D) None of these

In the following which one has number of
unpaired electrons in ‘d’ orbitals is same :
(A)Cr (B) Mn

(C) Fe** (D) None of these

The orbital angular momeutum of an
electron in s orbital is :

i h
A+ -, — B)Z
(A) o (B) Zero
(©) —h~ (D) None of these
2T

What bond order does O} have :

(A)3 (B)2
1
{(O)1 D) —
© D) 5
Hydrogen bonding is not present in :
(A) Hydrogen sulphide
(B) Water
(C) Glycerine
(D) None of these
Distribution law was given by :
(A) Henry (B) Vanthoff
(C) Nernst (D) None of these
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The freezing point of equimolal aqueous
solution will be heighest for :

(A) CaCO4 (B) C¢H,,04 Glucose
(C)Li (D) None of these

Wax is an example of :
(A) Molecular crystal
(B) Covalent crystal
(C) Ionic crystal

(D) None of these

Which ion has the lowest radius from the
following ions :
(A) Mg**

(C) Na*

(B) Si**
(D) None of these

The rate of diffusion of SO, and O, are in
ratio :
(A)1:1
(CO)1:42

(B)1:33
(D) None of these

The half life of '*C is about :
(A) 123 years (B) 11 years
(C) 2 years (D) 5730 years

An element has half life 1600 yrs. The mass
left after 6400 yrs will be :
(A) 1716 (B) 1712
(C) 1/4 (D) 1/32

120 gm of urea are present in 5 litre
solution, the active mass of urea is :

(A)0.2 (B)0.4

(C) 0.06 (D) None of these

AlCl,, in reactions. acts as :
(A) Oxidizing agent

(B) Reducing agent

(C) Acid catalyst

(D) None of these
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87.

88.

89.

90.

91.

93.

SET-A

A e Seltg faeraT & fau s=gay fegim
BM—

(A) CaCO, (B) CgH 04 eI

(C) Li (D) T § ®IE &

M (Wax) f58 R F fired =1 Igem
;.

(A) sfra=s

(B) TEEASTH

(C) amafs

(D) 378 ¥ =g T

fr sl ® 9 frmet omafte e ~gaw
(A) Mg** (B) Si**

(C) Na* (D) 379 | HIE &l

SO, 3R O, F1 fareror i & &1 &F79a 8—
(A)1:1 (B)1:33

(© 1:42 (D) 578 ¥ i TE

Y w1 o1 T o A §—

(A) 12.3 99 (B) 11 =9

(C) 2 74 (D) 5730 94

TF I 1 3G ATF 1600 79 71 6400 T
AT T4 I 9K EM—

(A) 1/16 (B) /12
(C) 1/4 (D) 1/32

. S ERT HE W 120 7 it Suftyg ? @ gt
1 9fFg gomHE 8—
(A)0.2 (B) 0.4
(C) 0.06 (D) T | 318 T

AICI; AfifFn § =raer &3 §—
(A) sTfiRE AfvFis

(B) srqargs aifiads

(C) 377 TERF

(D) 37 | H18 TEl
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94.

95.

96.

87,

98.

99.

The oxide which is not reduced by hydrogen
is :

(A) Fe,O4 (B) Ag,O

(C)BothA & B (D)K;O

In the reaction, Identify the Metal M :
4M+8CM™~ +2H,0+0,
— 4[M(CN),]” +40H"
(B) Copper
(D) None of these

(A) Gold
(C) Iron

For the reaction
CO(@)+ 1 0,(g)= CO,(g); 2
2 Kc

is equivalent to :

1

A)RT B) —
(A) (B) T
(C)4RT (D) None of these

4 M
The pH of the solution, 5 ml of _5—’ HCI +
10 ml of—?—daNaOH is :
(A)2 (B)3
7 (D)1

Select the pKa value of the strongest acid
from the following : '

(A)9.1 B)3

(C)s5.5 D)1

For CaCO,(s)= CaO (S5)+CO,(g) at
977°C, AH = 176 k] mol, then AE is :

(A) 180 kJ (B) 201.7kJ

(C)165.6kJ (D) None of these

100. Which increases on increase of temperature :

(A) Collision frequency (Z)
(B) Energy of activation (Ea)
(C)BothA & B

(D) None of these
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95.

96.

97.

98.

o9

SET-A
TEISH EN HA-H AlEs SUEdd T
TT—
(A) Fe,03 (B) Ag,0
(C)TITA&B (D)K,0

afafsran ® &g M &1 189 SHifoe—
4M +8CM~ +2H,0 +0,
— 4[M(CN),] +40H

(A) €1 (B) dram
(C) Frgt (D) ¥4 | =3 Tl
s CO(g)+% 0,(g) = CO, (g)
¥ forw XD oy g 8—
Kc
1
A)RT B
(A) ( )Jﬁ
(C)VRT (D) T8 ¥ HE &l
_1\52, HCl % 5 fiefto +1546Na0H % 10 fireito
% forer &1 pH WH 8—
(A)2 (B)3
<7 D)1
frefafaa ¥ ¥ weoay o7a & pKa WH &
TIq HifT—
(A)9.1 (B) 3
(C)5.5 (D) 1

sifafiar CaCO,(s) = CaO (S)+CO,(g) &
faw 977°C R AH = 176 k] Mol %, @& A E
-

(A) 180 kJ
(C) 165.6 kJ

(B) 201.7 kJ
(D) % | #I5 &l

100.919 9gM 9 N Ag—

(A) TFRU & g (2)
(B) STES i 91t (Ea)
(C)SFI A & B

(D) 3% | = &
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